2025 EOBEHHEIILITIRE BIRE

2025%7H9H =mCC

FIRY7 (BLA—IL:) HDEPRIET By MIERE
g K 4 FiE |OUT|IN|% M| HD |NET ] K % FrE [OUT|IN|[%mA| HD |NET
101177k E— Iy Ta | 41 42 831 8.4 74.6 151 #EFE ILE 43| 43 86/ 9.6/ 76.4
102(F@ = ftA 39| 38 771 2.4 74.6 152|&HA #h* e-xv>sz | 40| 40 80| 3.6/ 76.4
103|1#% EH&/ TRX 46| 43| 89| 14.4] 74.6 53|k = ftA 441 48| 92| 15.6] 76.4
104/ )11 2= B4 R 40 42 821 1.2 74.8 54|18 ®EBFE ovTa| 37 49 86/ 9.6/ 76.4
105(J11&  {=R XX 401 42 821 1.2 74.8 155|ER/ X =15 44 42 86/ 9.6/ 76.4
106{)IIA  &F8h JvT 4| 40| 42 82| 1.2 74.8 156|&I &BF ovTa| 41| 45 86/ 9.6/ 76.4
107(# 5 DvT a4 | 40| 42 821 1.2 74.8 157|817 {£#0 B4 K| 46 45 91| 14.4] 76.6
108(5cH Eth XX 39| 37 76| 1.2 74.8 158|F4E Hth DvT 4| 43| 42 85| 8.4 76.6
109(n0E%E RIL oy Ta | 41 47 88| 13.2| 74.8 159\ /1L #0BA DvT4 | 41| 49 90| 13.2| 76.8
110|157  FE ILE 371 39 761 1.2 74.8 160['RE =»— TRX 401 49 89 12 71
1M|#H=E EH 2vT 4| 38 38 76| 1.2 74.8 161|#i K 20F DvTq| 42| 41 83 6 17
M2|E B LE 441 43| 87 2 15 162(%  FOtst ftA 51| 55 106 28.8| 77.2
13| EEI ##x |[HBA™ 421 39 81 6 75 163[HL & e-xuroz| 43| 44 871 9.6 77.4
1M4ithEH &= B4 R 43| 44 87 12 75 164[:E8h & E-xuroz| 43| 44 871 9.6 77.4
15w #7+  [fA 411 46| 87 12 75 1651l #FEF] Dy T 4| 46| 41 87| 9.6 77.4
116|5=Z BAS ft A 49| 55| 104 28.8| 75.2 166[F)1l IEZ owT | 45 48] 93| 15.6| 77.4
NERX & ftA 371 37 74 -1.2| 75.2 167|18 #F= fit A 46| 46 921 14.41 T71.6
118(E@A &= ovTa| 41 45 86| 10.8| 75.2 168[#ry 28 B4 R 42| 44 86/ 8.4 71.6
19558 BE XX 421 44 86| 10.8| 75.2 169(=#F & THAmh 491 42 911 13.2| 717.8
120|1%AK 15B88 EHE 38| 42 80| 4.8 75.2 170(8#E EX ft A 371 36 13| -4.8] 71.8
121|758 IERK 2vT4| 37 37 74 -1.2| 75.2 1MFRE & =1 48| 48 96 18 78
1224t E%= ftA 38| 42 80| 4.8 75.2 172(#xF ZET] 7307 41 43 84 6 18
123|8%k EX oyT | 42 44| 86| 10.8] 75.2 173[/h i KIE ovTa| 39| 45| 84 6 18
124[lLAK &= ft A 401 46| 86| 10.8] 75.2 174|AE  #hiE owT | 42 53| 95| 16.8| 78.2
125\ K EHE e—xu>sz| 43| 48 91| 15.6] 75.4 15| & 4 | 49 51 100 21.6] 78.4
126|A% —= 4901 37| 36 13| -2.4] 75.4 176| X8 EB EHE 49| 45 94 15.6| 78.4
1271/ & EHE 42| 43| 85| 9.6/ 75.4 177)3R1B [E3x Ensa | 48] 401 88| 9.6] 78.4
128|F¥ % #EX 4901 42 431 85 9.6] 75.4 178| LF {#th JwT | 48[ 45| 93| 14.4] 78.6
129| KA\ # ft A 48| 43 91| 15.6] 75.4 179|/[RE {E# EHE 51| 47 98] 19.2| 178.8
130|188 Z3h oyT«| 49 60| 109| 33.6] 75.4 180|FE1E 5243t =1 48] 491 97 18 79
131|E# #F Eida K| 471 50 97| 21.6] 75.4 181|#2ikE #E=E Dy T 4| 43| 42 85 6 79
132|8/R xmBik |EHE 40| 44 841 8.4 75.6 182| L%t I ILE 471 49 96| 16.8| 79.2
1BB|BH *h= ft A 411 43 841 8.4 75.6 183[iA Kk ft A 48| 43 911 10.8| 80.2
134|04 B8 4490 31 M 18| 2.4 75.6 184|Ex #F owT | 48[ 54| 102| 21.6] 80.4
13516k S8 2vT4| 38 40 18| 2.4 75.6 185|FhH # ftA 58| 52 110 28.8| 81.2
136(luAR EBEXE [fA 45| 44| 89 13.2| 75.8 186|HEH Eth =05 46| 40| 86 4.8] 81.2
137|0fE  FEk EHE 37| 46| 83| 7.2 175.8 187|EE 1A owT« | 46| 451 91| 9.6| 81.4
138|#%F EX ft A 411 421 83| 7.2 175.8 188| A{RHE & owvT« | 51| 51| 102| 19.2| 82.8
139|8 F& DvTa| 49 46 95( 19.2| 75.8 189|FER FIE owT« | 43| 50| 93| 8.4] 84.6
140|404 i e-xuvoz| 44| 44| 88 12 16 190 XA =¥ O4+JL| 59| 49| 108| 22.8] 85.2
1418 HR= v T 4| 45| 43| 88 12 16 19MEE =% ovT«4 | T3] 63| 136 36 100
142|571 58k TRX 401 48| 88 12 76
143|HE IE¥F ft A 401 42| 82 6 76 NR [ZH EX YT A
1441t RE Dy Ta| 48| 46 94 18 16 NR (IR JFKF (Vv Ta
145(;BA BEF TRX 38| 38 16 0 76
146(#93% —HR e-xu>sz| 42| 45| 87| 10.8] 76.2
147|&F BER ft A 44| 43 871 10.8] 176.2
148(= )11 —1A =E 49| 44 93| 16.8] 76.2
149|112 B e—xyroz| 42| 39 811 4.8 176.2
150|@/R SEKER |=& 44| 43 871 10.8] 176.2




